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1] | w| = 60" EINLAUF / ABLAUF
m |[PE= 15 EINLAUF = PALSE
|| l w |[P1 108" EINLAUF / SPULEN
|| = 60" ABLAUF
o [= =] STOP
1 = = 60" ABLAUF
- 15" EINLAUF
el 15" EINLAUF
| /NN NN . e || 15" JEWLAUF/SPULEN
= ||lpe= 15" EINLAUF = PALISE
= |[p1 e0" EINLAUF / SPULEN
| | | . w_ || 240" |SPULEN
i Ll IR 80" ABLAUF
BN . . B B L
! | o 15" EINLAUF & REINIGUNGSMITTEL-VERTEILER
]‘ ] 15" EINLAUF { SPULEN
BN | - _| = |[P2= 15" |EINLAUF > PAUSE ;
] = Il s EINLAUF/ SPULEN
B &0" SPULEN
| ] [ 80" SPULEN
N | BT+ 18¢ SPULEN { HEIZUNG TH
-l . _W__||'esties’AB B)SPULEN
[ | ] 60" SPULEN | & OPTIONEN HEIZUNG )
b 180" SPULEN
& 60" SPULEN
| 5 50" SPULEN { & OPTIONEN HEIZUNG )
L] 120" SPULEN
B 240" |SPULEN
2 60" SPULEN
& 60" SPULEN
[ 15" EINLAUF
- 8 15" JEINLAUF
| 2 15" EINLAUF/ SPULEN
2 |lre= 15 EINLAUF = PAUSE
I 2 |lp1 240 EINLAUF/ SPULEN
“ &0" PAUSE [ OPTIONEN ABLALUF )
2 |iP2=)1sn PAUSE { EINLAUF > PAUSE )
I @ |[r1) 188" SPULEN ( EIMLAUF > PAUSE )
i a2 60" ABLAUF
= 15" EINLAUF
o 15" EINLAUF
I = 15" EINLAUF/SPULEN
£ [Pz 15" EINLAUF > PAUSE
& Jr1 120 EINLAUF/ SPULEN
& 15" SPULEN
L 5 |t as SPULEN /HEIZUNG TH > KLARSPULMITTEL
H | E 60" SPULEN {HEIZUNG & KLARSPULMITTEL
& 60" SPULEN /HEIZUNG
g &0" SPULEN
o 60" SPULEN
RN |1 i N 0" |ABLAUF
Il a 120" REGENERIERUNG
5 e 240" PALSE
E a 240" PALSE
| | 2 15" |EINLAUF] ABLAUF
{ 4 15" ABLAUF
| | a2 | 15" EINLAUF/ ABLAUF
| 3 15" ABLAUF
2 = STOR
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